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f(x)= f(x) + F'(X) (X~ Xg) + 0 0 (X~ Xg)?
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4.31 f(x)=x2 Xg =1 (

)
F()=1f'()=2 f"(x)=2
Xo=1 C )

x% =1+ 2(x—1) + (x-1)?

x% =1+ 2(x—-1) +0o((x-1))

sz f(X)=sInx—Xx Xg=0 (
)
sin X

sinx—x:—%x?’ +o(x‘°’)—x:—%x3 +0(x%)

233 tanx X=0 ( )

tan X ,_o = 0, (tan x)'| g = sec® X y_g=1

(tanx)"|,_g = 2secx-secx-tan X ,_o =0

(tan X)"| ,_o = 4sec” X - tan® x + 2sec* x| ,_g = 2
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2
tan X = X+ — x> + o(x°)
3
s € X0 =-1 n
11
. ex_ex+11__.ex+1 ex+1

eX X =x+1

:1(1+(x+1)+1(x+1)2 +~-+£(x+1)” +--)
e 2! n!

1+1(x+1)+i(x+1) +- +i(x+1)
e e 2le nle
eé n+1
+ (x+D)"
(n+1)le
E X Xp=-1 Xe(-00,4+0)
. Iim(sm 6X + xf (x)j o
x—0 X3
lim 6+ f(X)
x—0 X2

sin 6x = 6x —%(6x)3 +0(x%)

Iim(sm 6X + xf (x)j

3

X—0 X
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. 6x—36%° +o(x3)+xf (X)
= lim 2
Xx—0 X

0+ fz(x)—36+0=0

6+ f(Xx)
2

= lim
x=0 X

=36

lim
x>0 X

(sin 6 + xf (x)j

lim

Xx—0 3

X

. SIN6X—6X+ 6X+ Xf (X)
= lim 3
Xx—0 X
6+ f(x) . _sSIN6Xx—6x
+ lim 3

= |im 5
X—0 X Xx—0 X
3
_ lim 6+f(x) 1 i (6X)
x>0  x2 Bx—0 xS
6+ fz(x) _ 36

lim
x>0 X

6X + Xf (X)
3

. sin6x+ xf(x) .
l[im 3 = |im
x—0 X x—0 X
6+ f(x)
=

= lim 0

X—0 X
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4.11 ( )
o lim f(x) =limg(x) =0¢ oo
@ f'(x), 9'(x) g'(x) =0
o lim ) jim )
g'(x) g(x)
jim )
g'(x)
@
X— XO o0
@

4.36 2004-2-15

o 11(2+cosx)"
lim —11
x—>0)(3 3

24COS X 2 + COS X
xIn In
e ( 3 ) -1 ( 3 j

-lim = lim

X—0 X3 Xx—0 X2
. In(2+cosx)—In3

= |im
x—0 X2
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1 .
(—sinx)
_ i 2+ COSX
x—0 2X
1 .. 1 sin X 1
=——[im : =——
2x—>02+COSX X 6.
2
xln(ZH;OSXj In(z + COS Xj
. e -1 . 3
Xx—0 X3 x—0 X2
inl 14+ cosx—-1
. 3 . cosx-1 1
= |im = lim = -
X—0 x 2 x—>0 3x?2 6
. 1 (2+cosxjx
lim : -1
x—02(1-cos x)(e*"* —1) 3

1 .
1—C0S% X — = Xsin 2x
4.37 lim 5 X22
x—0 X“(e” =1

www.tsinghuatutor.com -7- 1101 62781785



2005 1006 1101 62781785

1—cos? x— T xsin 2x
lim 2
x>0 x*(eX -1)

sSin X(Sin X — XCOS X)
4

= |lim
X—0 X
. SINX—XcosX .. Xsinx 1
= |lim 3 = |lim =
X—0 X x—0 3X 3

__cosxIn|x—a
4.38 lim
Xx—=a |n

X

e —¢€

a ‘

cosxInx—a In|x — &

= limcosx- lim

lim
_eﬂ X—a x—a|n

Xx—>a |n

eX

eX —ea‘

1
—cosa-lim-—X=2&_
x—>a et

eX —e?

X _gd

. _y... €
=cosa:lime" lim———
X—a x—=>a X—a

—e %.cosa-e? =cosa

oo

o0
o0
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4.39 lim —
x—>U\ X—=1 Inx

1

. X 1 . XInx—=-x+1
lim — = lim
x>0 X—=1 Inx) x-1 (Xx=1)Inx

1
Clim "X jjpox L
Xx—1 X—1 xo11 1 2
InXx+—— N
X X 2

2

. X 1 . XInx—-—x+1
lim — = lim
x>\ X=1 Inx) x=1(Xx=1)In(L+x-1)

. XInx—=x+1
= lim

Xx—1 (x_]_)2

In X . X—1 1

= lim = lim =—
x—>12(X 1) x-12(x-1) 2
4 6

4.40 f (x) X-I—m

X
hma+x+—LﬁX— e,
Xx—0

£ (0), f'(0), £"(0)
£(0)= f'(0)=0, f"(0) =4
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1 f(x)

_ — —In(Q+x+—%)
I|m(1-+x+—f£9)_llmeX X~ =g3
Xx—0 X Xx—0

In(1+ x + ())
[im =3
X—0 X

:ﬂnnma+x+j99%ﬂkzlmux+ ()) 0
Xx—0 X x—0

In(1+ X + ()) x+f00
lim = lim X -3
Xx—0 X Xx—0 X

2
lim +2f(x)=3
X—0 X

2
lim X0 _ g i T _ 5
x—0 X2 x—0 )(2

limt X _o im E

Xx—0 X2 x—=>0 2X

f(0)=0,'(0)=0,f"(0)=4

f(x)=2x%+0(x?), f(0)=0
f'(0)=0, f"(0)=4
4.41 f(X) X=0
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f(0)=1f'(0)=2

n

irsn( ) o

1

Iim(lsin x)x(l_f(x))
X—0\ X

X Sin X—X

= lim

X—0 X

1 3
. sinx—x _ s
lim — = lim—
x>0x“(1- f(x)) x=>0x“(1- f (X))
1. =X 1 1

==1im — _
6x-01-f(x) 6f'(0) 12

1

o
Iim(lsin xjx(l_f(x)) _ pl2

X—0\ X

sy o) =

( f'(x) )
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1.. — X 1.. -1 1
—lim ==—lim - —
6x-01—f(x) 6x-0-f'(x) 6f'(0) 12
f'(x) f'(x)

sa2 T (X) [O, + OO) X e (O, + OO)
f"(x)=0 (0, + o) y = T(X)
(%o, T(X0))
L ] 3 Taylor 1

F(x)= f(x) - y(x)
= £~ f (%)~ (%)X~ o)

X:XO Taylor

:L 4
RO =2 Q)x=%)"¢ X %
f"(x)=0 f"(x) F(X)
a3 b>a>e, ab>ba
f(X)=xlna—-alnx f(x):ln—x

X
[ ] f(x)=|n—x X>e
X

f'(x)=1_|2nx F'(x) <0

X

f (X) b>a>e,
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Inb Ina
<
a
alnb<blna, Inb? <Ina®
al > p?

f(b) < f(a)

4.44 F(x) f(0)=1f(1)=0
X €[0,1]

uxmg%mwﬂvum
xe[0,1]
vae[01l] f(x) x=a

£(x) = f(a)+ f'(a)(x— a)+% £7(2)x—a)?

& a, X
Xx=1 x=0

0= f(1)=f(a)+ f'(a)(L— a)+% £7(2, )L—a)?
& < (@)

0= 1(0)= f(a)+ F'@(-a)+ 1"(&, o)’
£, <(0,a)

(@)= (1(&)e-a) - 1(&)a?)
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a0 a1 @)= 1f(&)

@) =, |1
ac (0,1
@)= |1(G)a-a) +|1(E )’

£7(8) = max{[f"(& ). (£, )}
£e(0))

£/(a)| < %\ f(£)(2-a)? +a2)s< %\ F(6)

< 1 max{| f "(x)}
2 x<[0,1]

a [01]
(%)) < % max{/f "(x)}
xe[0,1]
w5 0>0,f (X) (—5,5)

xe(=6,6) . | <x?

x=0 f (X) [C]
® ®
© . ' (0)=0
® . f'(0)=0
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X e (=5,5) F(x) <x* x=0
f(0)=0 —g\x\
lim—— Tx) =0
x—0[ X
Iirr(l)f(X)=0=f(0)
Cx< W) oy
X
jim ) = iy TR0 41
x—=0 X x—0 X—0
515.111:(X) | eR ) |
F(x). F'(x)=1f(x), vxel. F(x)
f(x) I
F(x) f(x) | . F(x)+C
f(x) I , C ; . f(%)
2 F(X) (F()+Cl f(x)
[ f(x)dx=F(x)+C
F(x) f(x) | C
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5.1

f(x)
[.f@dt  f(x)
[ f(x)dx=[2f(x)dx+C

5.1

X X

.1 1
f(x) = 2XsiIn——cos— X =0
0 X=0

s .1
X“sin— X=#0

F(x) = X
0 X=0

x=0 f(x)

2 () (a,b)- Cf(X)

(a,b)

COS X, X >0,
52 T(X)=
ae” —1/x, x<0.

f(x) R a=

(A e‘l @0 ©r bpd

. T(X) X=0 lim f(x) =1
X—0

lim f(x) =1

Xx—0"
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X_
lim (x) = lim 261

Xx—0" Xx—0" X
1 1
X _1-" 11 t1
a lim a  _g-—alim% =1
X—0" X x—>0 X

a=1

X+1 X>0:;
ST T

2
f B
1x2+x, X > 0:
A F(X)=<2 1
—Ze™*, x<0,
. 2
1x2+x—£ X > 0:
o F()=12, 2
—Ze " +2, x<0,
. 2 2
X2 4x, x>0
C F(X)=<
—E€*+1,x<0,
. 2 2
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x4 x+1, x>0
DF(x)=<21 "
—Ze " +2, x<0,
. 2 2
12 Xx<0
5.4 f(X)=<]i+X
—X+1 x>0
7T
f(x ., F(0)=—.
(X) (0) A

arctanx+z X<0
F(X) =+ 4

/A
X2+X+Z X >0

\

f(x) 1 X<OX ( 1o0)
5.5 = , A € (—00,+00
X x>0

. t=0

5.3
5.3.1

€
[T’ (X)dx=f(x)+C

J F'(p(x)- @' (x)dx = f(p(x))+C
dx

asin? x+b? cos? X

5.6
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le de:lj 1 d(i):larctan5+c

X
a“ + X a1, (%2 a a a
a

dx
a’sin’ x +b? cos?® x
d(atanx) 1
a’tan®x+b? ab

= 1 arctan(E tan x) +C
a b

tan X

- j\/c:osx
_ d(cosx) 2 C
COSX~A/COSX ~/COSX
] dx 11(1_1jdx

x2_g% 2a’\x—a x+a

dx

1 (j L d(x—a)—id(x+a)j
a X+a

:Za X —
- X2 c
28 X+a

dx )
X+/In X(L—Inx)

oo |

dx =arcsinx+C

J

1—x?
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d() arcsin— +C

dxj

W

| éx(l_x)dx=2jﬁ=2arcsinﬁ+c
dx
jx\/lnx(l—lnx)
. d(Inx) d+/Inx
_j\/lnx(l—lnx)_I«/ —Inx
= 2arcsin~/Inx +C

ji/riiL_{)d x = 2[arcsin~/xd (arcsin/x)

= (arcsin/x)? +C

o dx
(2 + cos x)sin x

—d(cosx)

: (2+cosx)sin2x
1 ( f —d(cosx) N (2—cos x)d (cos x))
37 (2+cosXx) 1— cos x

=%In|2+cosx|—%|n|1+cosx|
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+%In|1—cosx|+c

2X+ 2
5-11I 5 dx
(x +1)(x-1)
_2( 1 )dx |(X D* ¢
x—1 (x? +1) x? +1
512Ixcosx smde:erC

x X
@

(o) o't)dt = F®)+C. x=o(t)
=o'w. [ F(X)dx=F(pt(x)+C

5.13 I\/ a2 — XZdX (a>0)

x=asint,(0<t sg),dx = acostdt

[a® —x?dx = [acost-acosdt

= a’[cos” tdt
2 -
:azjl+c032tdt:a_(HstthrC
2 2 2
2
:%arcsinéq%x\/az—x2 +C
a

jx/a + x2dx (a>0) X =atant
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[Vx*—a’dx x=asect

I dx
5.14 .
X—Vl—XZ
[1¢ » X=S8Int,dx =costdt,
dx cost
dt

I)(_4/1 x 2 :Isint—cost

1 cost+smt cost —sint
{l dt + [ — dt)
2 sint —cost sint — cost

= EIn‘x—x/l— xz‘—%arcsin X+ C

« 2

= cost di
sint —cost
_jcost+sint—sint+cost—cost{]It
sint — cost
:In‘x—\/l—xz‘—l—arcsinx+C
( |
X
5.15 '[ 2 d
X —4
«/2x 4
J 2 I
\2X — 4)

+1arctant+C
2(t +4) 4
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1 N2X—4  ~/2X—4
=Zarctan > + 2 +C
X

5j-zz(x)dv(x) = u(x)v(x) — [v(x)du(x)
s.6 [ X2 sin xdx = —[ x“d (cos )
= —x%cos x + [cos xd (x?)
= —x? cOS X + 2[ xcos xdx

= —X2 COS X + 2XSin X +cos X +C

5.17

jlnxdx=x|nx—jx-1dx=xInx—x+C

X

[x™In" xdx . m, N

[arcsin xdx, [arctan xdx, [e® sinbxdx .

5.18 f(| ) In(1+x) jf(X)dX [1 1
Inx =t,
t f(t) _ In(1+e )
e!

[ f(x)dx
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=—[InL+e")de™™ =—e " In(L+¢” )+f
1+e”

—e “Inl+e*)+x-In(l+e”)+C

X

=—e " In(l+e”) +[(l———)dx
1+e*
=x—(1+e")In@l+e”)+C
5.19  f(x) y
| 7 xf'(x)dx
2
f(0=C"%y = L (xcosx—sinx)
X X?
1 T 4
f()=-_1)=-"
| = [ 7 xf’(x)dx
2
= ] 7xdf (x) = Xf (9"~ ] 7 £ (x)ox
2 2 2
=0 00~

2

www.tsinghuatutor.com -24 - 1101 62781785



2005 1006 1101

62781785

T 4 2 4
2( 772) T
X
5.20 _[ Xe dx
J1+e”®
Ji+e* =t,
x=In(t?-1), dx=—""dt,
t2 —1
X7 G = 2fIn(t? 1)t
\V1+e®
2t?
= 2tIn(t? =1) -2 dt
(t°-1) Itz_l
_ 2 2
= 2tIn(t? - 1) 2](2+t2_1jdt

=2t|n(t2—l)—4t—2j( 1 — 1 jdt
t—1 t+1

:2tln(t2—1)—4t+2lnt+i+c

/ X
:2xV1+eX—4V1+eX+2h1:L+e +1+C

Ji+e® -1

5.3.3
Ie%dx
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@

_P(X
ROO_CK@’ P(x) Q(x)
R(X) = P(¥)+ 22((;))
P (X) . Py (X) Q(x)
P, (X) ( N
Q(x)
©QW  (x-a) 22 ((XX))
A
X—a
@ Q(X) « (x—a)X I;Z((::))
AL A A
x—a (x-a)® (x-a)
3) Q(X) x2+px+q( p2—4q<0)
P, (X)
Q(x)
Mx + N

X% + pX+q
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® Q(X) K (x2 + px+q)k (

p2—4q<0 ) P, (X)
Q(X)
MiX+N;  Mox+N, — MpX+ Ny

X% + IOX+CI’(x2+ px+q)2’ (x2+ px+q)k

2
ax3 + bx +2de
X (x—-1)

5.21 ,J.

2
A, A B B
ax +bx+p:A1+ 2,8 B 2

*(x-1)%  x x*2 x* x-1 (x-1?

2
ax3 + bx +2pdx
X (x-1)

A=B =0 ]

ax? +bx+p  Ax(x—1)% + Ay(x=1)% + B,x

x3(x —1)% x> (x —1)?
—-2A+A;=a
A, —2A; =b
Ag=p

A,A; a+2b+3p=0.
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2X
(X +1)(x? +1)*

2X A Bx+C Dx+E
2 N2 t o T 2
(x+D(x“+1)* X+1 x“+1 (x°+1)

dx

5.22

AF:C:?—E, B 1 D=E=1,

2 2

__ i1
2

2X 1 +}_x—1+_ X+1
(X +1)(x? +1)* x+1 2x%+1 (x?+1)?
2X

dx =

ux+DU2+D2
16-1—3— 1 x-1  x+1 \x

+ = +

2x+1 2x% 41 (x?+1)°2

T Y BRI
2°x+1 2 x24+1 @2+1)

2
=1m1+x + X—1 +C

4 (1+x)?% 2(x%+1)

R(sin x,cosx), R(u,v)
1 t=tan .
2

2
5 cosx=lt2 dt = 22
1+t 1+t 1+t

1101 62781785
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[ R(sin x,cos x)dx t

1+sinx
1+ cosx

dx

5.23 I

t:tanz,
2

1+sSIinXx 1+ 2t +t%> 2
1+ cos X 2 1+t

(:os5 +C.
2

dt

J

:tanf—ZIn
2

R(—sin x,cos X)=— R(sin X, cos X).

t = Ccos X
dt . .
dx=——— R(sinXx,cosx) sinx
sin X

sin X = \/1— cos2 X

R(sin x,—cos x) -— R(sin X,c0s X) ,

t =sin x
R(—sin x,—cos x) = R(sin x,cos X) ,
t=tan x

R(sin X, cos x)
= %[(R(sin X,C0S X) — R(=sIn x,c0s X))
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+ (R(=sin x,cos X) — R(—sin x,—cos X))
+ (R(—sin x,—cos X) + R(sin x,cos X))]
dx
e J(2+c:os X)sin X o
t =cosx
dx B —dt

(2+cosx)sinx (2+t)sin® x

—dt
= | S
(2+t)(1-t°)

J

Xarcsin x
5.25 _[ dX

(1—x2)32

1
=)
V1-X
arcsin x B dx

=V1—x2 Jl—X2

arcsinx 1, 1+x

. ) ——In——

1-—x
5.26

= [arcsin xd (

+C

dx

SIn 2X + 2sin X
dx 1 dx

r1]

Sin2x +2sinx 2 sin X(1+ cosx)
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dt
1 COSX=t dx=———

SII’]X

ety
2°sinx(1+cosx) 2" (1-t )(1+t)

EI dt
2 (1—t)(1+t)2

——In\l {1 ﬁ+—ln\1 {+C
_+_

1
2

1 1 1 1 1
J'(_.__|__. + =
4 1 2 (L+t)? 4
1 1. 1-cosx
= +—1In
4(1+cosx) 8 |1+cosx
2

1
.——)dt
1)

+C

I dx f dx

Sin 2X + 2sin X "2 sin X(1+ cos x)

X
1 dx 1 d tan2

i -~

1+tan? ™ y
| 2 24 tanE
tan —
2

N
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e a2
4 8 2

X
tan —
2
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